YK250~400XP
Arm length 250350°400mm/Maximum payload 3kg
@ Robot ordering method

YK259XP- 150 - 3L - [RCX142 - E- N1- CC- S

400 m Controller Expansion I/0 Battery
150:150mm 3L:3.5m Blank:Standard]
5L5m ECE ecttaion?

. 1] i
10L:10m Controller type: Refer to the Controller Catalog for further details.

* Built-to-order product. Contact us for the delivery period.

@ Basic specifications

Model YK250XP YK350XP \ YK400XP
. Arm length 125mm 225mm
X axis Rotation range +115°
Axis ¥ axis Arm length 125mm 175mm
specifications Rotation range +130° + 140°
Z axis Stroke 150mm
R axis Rotation range +180°
X axis 200W
Y axis 100w
Motor -
Z axis 100w
R axis 100w
X, Y combined 40m/s 5.0m/s 6.0m/s
Maximum speed Z axis 1.0m/s
R axis 1020° /s
X,Y axis +0.01mm
Repeatability™ Z axis +0.01mm
R axis +0.005°
Max. payload 3kg
Standard cycle time (with 2kg payload) 0.54 sec. ‘ 0.66 sec.
R axis allowable moment inertia™ 0.049kgm? (0.5kgfcms?)
User wiring 0.2sq x 10 wires
User tubing 24 x3
Movement limit setting 1. Soft limit, 2. Mechanical limit (X, Y, Z axes)
Robot cable Standard 3.5m Option: 5m, 10m
Controller, Power supply capacity RCX142, 1000VA YK400XP
Weight 15kg

[1: This is the value at a constant ambient temperature. (X, Y axes)
[J2: There are limits to the setting of the acceleration coefficient.

YK250XP

40 112.2 125 220
- 55 130
R axis rotating radius ,@6 ° B 0.6 —
- =

00
120
140

i

=)0

J /@4@\* L 135 Iz5 N 4-09

Qy ) o - 185 Use M8 bolt for installation
200

Connector for user cables[] User tubes 1 (24 Black)
(Adapted to #1t0 10) User tubes 2 (24 Red) | Insert the plug provided when not used.
Cover with the caps providedO User tubes 3 (24 Blue)
when not used. 675

599

Working envelope
477
313
Exhaust port (6-12)
252 © ‘ [ 262 Connect the 12 air tube and ({
extend to a location free of [
208 | r[; 204 water and dust.
1 - . . Connector for user cablesd
170£2 . 1 For X axis joint air purging (26) (Adapted to #1 to 10)
212 . ForY axis joint air purging (26) -
M8 X 1.25 Depth 7 Insertthe piug ) For aqe ot airzur%m%(wa)) Cover ith the caps provided
o @/—L provided when when not used.
iz not used. User tubes 1 (g4 Black)
User tubes 2 (g4 Red)
‘ , ‘ User tubes 3 (24 Blue) M4 grounding terminal
0 i [




40, 112.2 225 220
‘ 55 130
o= 0
R axis rotating radius =" = TR IR
8\ o o o NS 88 ¢
_ - Y\j* }l / ; 1 = | =
=
- JJE =
g 135 3!
X - 185 e i i
Q—b‘ 200 Use M8 bolt for installation
Connector for user cables| bJserrItuéJeszl (ﬂ: F?IE:‘Ck)
Adapted to #1 to 10 ser ubes 2 (g4 Red) Insert the plug provided when not used.
(Adap ) User tubes 3 (24 Blue)
Cover with the caps provided when O 730
not used.
599 ;
477
313
252 | 262
208 4 204
water
170+2
98 Insert the plug
provided when
———64  notused.
i 32
0 = 0

Connect the gl12air tube andl
extend to a location free of O

&
Y

Working envelope

Exhaust port (6-912)

and dust.

For X axis joint air purging (26

D-sub connector for user cables]
(Adapted to #1 to 10

ForY axis joint air purging (26
For R axis joint air purging (6
User tubes 1 (@4 Black

User tubes 2 (94 Red
User tubes 3 (24 Blue)

when ni

M4 g

Cover with the caps provided O

ot used.

rounding terminal

YK400XP

40, 166.1

225

R axis rotating radius

Connector for user cables
(Adapted to #1 to 1)

not used.

599

Cover with the caps provided when O

~4-29
Use M8 bolt for installation

N

o

’ ¢ D)
= NS4 H

2 S HEDHR 4 o &
—! : 135 35]

o ) 00

™)

Q.

User tubes 1 (g4 Black)
User tubes 2 (24 Red)
User tubes 3 (24Blue)

Insert the plug provided when not used.

313

252

208

[
i%‘ \
or 7
o T

J.ng

170+2

150

M8 X 1.25 Depth 7

730
Working envelope
477
Exhaust port (6-12)
262 Connect the @12 air tube and {J
extend to a location free 0
204 of water and dust.
For X axis joint air purging (#6)
ForY axis joint air purging (26) Co
Insert the plug (I For R axis joint air purging (26, -
E:ﬁ‘ﬂg:ﬂ e e tubes 1 (g4 Black g;
: User tubes 2 (94 Red) ~[Rgt®
User tubes 3 (24 Blue) "2
o
—

Connector for user cables[
(Adapted to #1 to 10)

ver with the caps O

provided when not used.

M4 grounding terminal




